LSP 121
Homework #4
Due: June 27th
You will need to use the SPSS software program to solve the following problems.  This software is available in all of the DePaul general purpose labs.  

The following data sets give waiting times in minutes for 15 customers waiting for CTA trains on the Brown line and the Green line:
Brown:  5.5   6.0   4.5   5.0   7.0   6.5   5.0   7.5   5.5   4.0   8.0   9.2   5.5   8.3   4.2
Green:   5.5   8.0   2.0   5.0   8.5   12.0   1.5   6.5   9.5   10.0   6.0   6.8   9.3   12.5   7.7
1. Find the mean, median, and range for each of the two data sets using SPSS.
2. Using SPSS, give the five-number summary (minimum, first quartile, median, third quartile, maximum) for each. 
3. Using SPSS, find the standard deviation for each of the two data sets.

4. Apply the standard deviation estimate (shown in class) to determine the standard deviation of each of the two data sets.  How well does the estimate work in each case?  Briefly discuss why it does or does not work well.

5. Based on your results, compare and discuss the two data sets in terms of their center (mean) and variation.  Recall: the larger the standard deviation, the greater the variance in waiting times.
6. The mode is the most frequently occurring data value; that is, it is the data value with the highest frequency.  If every data value has the same frequency, then the data set has no mode.  If there are two values that occur the same number of times in the data set and more frequently than the other values, then the data set is bimodal.  Using SPSS, what are the modes in the Brown and Green data sets?  Look at both the Frequencies output box and the Frequency Table output.
